
 

Reset 
Reset the TV lift unit after installation using the following steps: 
1.Press the down button on the control panel for 5 seconds until the screen shows ‘RST’. 
2.Keep pressing the down button until the column has gone down to its lowest height and then bring it 

back up a tiny amount. Please do not release the down button until the ‘RST’ disappears off the 
display.  
When the ‘RST’ has disappeared, the setup process has finished. 

Note: if the screen shows ‘RST’ during normal operation, please follow step 2 to reset the lift. 

Set memory height 
Once the TV Lift unit is installed, we suggest setting the desired height using the memory functions. 
1.Operate the TV lift to the desired height that you want to set the memory function to. 
2.Press button ‘S’ on the lift control panel or ‘M’ on the remote controller for 3 seconds till the 

screen shows ‘SET’. 
3.Press a number (e.g. 1 or 2 on the remote or 1,2,3 or 4 on the lift control panel) where you want to save 

the preset. (within 3 seconds after the screen shows ’SET’). 
4.The preset height is stored when the screen shows the ’s-number’. (e.g. ‘S-1’). 
Note: Once memory setup has been complete the Lift Control Panel can be unplugged (RJ45 Ethernet 
plug) if it is not required by the user. The remote will continue to operate without it. 

Error 
If the screen shows ‘ER1’, the cables are probably not connected correctly. Please check and reconnect 
all cables. 
After re-connecting the cables, press the down button for 3 seconds and follow the above reset steps. 

Pairing remote controller 
If the remote control is not working, please follow the below steps: 
1.The pairing window time is 3 seconds after the system is powered on. The end of the pairing window 

period is identified by a single beep. 
2.During the 3 second pairing window, press & hold the "up" button of the remote control, wait for 4 long 

beeps and 3 short beeps to signal that pairing has been completed. 
3.After the pairing completion confirmation beeps, release the "up" button. 
4.The lift control system will now recognize the remote control. 

Up/down collision sensitivity adjustment  
The step is as following:  
1. Disconnect the cable between the hand controller and the controller box.  
2. keep press the ''s'' button and connect the cable to the controller box at the same.  
3. Release the ''s'' button till the screen shows ''L 0'' or '' L + number'' which means the sensitivity levels 

(L0 to L4). 
The L4 is the most sensitive.   

4. Press button ''4 '' to change the level  
5. Press button ''s'' to save.  
Note: If during normal operation the lift encounters a sudden change in load, the controller will 
retract the lift in order to prevent damage to the unit. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  TV Lift Instructions 

SMLFT (S650, S1000, S1300) 

360° SWIVEL 

Warning: Please measure all relevant components before installation to avoid any 
interference or collisions. 



Pack 1 

A:1PC B:1PC C:1PC D:1PC E:2PCS F:2PCS G:1PC H:2PCS 

    
  

 

M6*12 

I:8PCS J:4PCS K:4PCS L:10PCS M:1PC N:1PC O:4PCS P:2PCS 

M6*12 M8*16 M8 Nut 
Tapping 
Screw 

4mm 
Allen Key 

5mm 
Allen Key M6*16 M5*40 

Pack 2 

Q:4PCS R:8PCS S:1PC 

M6*20 
Installed 

M6*12 
4 pcs installed 

 

 

 
 

Step 2.  
Disassemble the swivel component (S) as 
above and put screws (R and Q) aside. 

Step 3.  
Install the part ③ of the swivel component 
at the top of part(A) by screws (R). 

Height Memory Presets 

Up(automatic) 
Down(automatic) 
Set memory 

Stop 

Presets Memory Up Down 

 

Step 6.  
① Assemble the top 
panel support arms (F) 
with the top panel (G) 
using screws (H). 
② Choose holes on the 
top panel support arms 
(F) (based on the TV 
size) and fix it to the 
bracket holder (C) 
using screws (I). 

Step 7.  
Install the bracket (D) 
to the bracket holder 
(C) (based on the 
most appropriate 
holes for your TV’s 
size) using bolts (J) 
and nuts (K). Place the 
TV support arms (E) 
on the bracket (D). 

Step 8.  
Secure the TV support arms (E) with screws (P). 
Tip: The TV support arms can be attached to 
the mounting holes on the back of the TV 
before fixing the TV support arms to the 
bracket. 

Step 1.  
Uninstall the bracket 
holder (C) from part(A). 
Parts (B) and (A) are 
preassembled by using 
screws (O). If not, 
please install as the 
picture shows.  

Step 4.  
Install the part ① and ②at the top of part 
③ as the above sequence using screws (R 
and Q).  

Step 5.  
Install the bracket holder (C) at the top of the 
swivel component (S) using screws(I). 


